FPT op-x

Sax (~+125°C)

ARSAXR I LV ToH

CIREORRE., EEBREETERIZSN
MRS E I/ MN=ETNEEFSE TNV EEET

IAFSA XK PP 2«4J)LLOVTYH

630VDC
<HgE
1E B % 8k
15 PR 8 -40~+105°C (+125°C) +105°CZBA A I BEEBNE
+120°CEBASFIEENERB RV E
EFE T 630Vpe
HERBHEHA 0.01 ~0.047 uF
HEREBHAE +10%(K)
BRIER C= 0.33(F : =25000M Q
FEEHE tand =<0.001 (1kHz)

<+ EWTER  (FPT)

e | mE | e Hik (mm) B i
i RE | B2 | el a [ [w] L] En |
(Voo) WF) (%) max max max max +0.75 ¢ Top (A) B/
FPT22J103K-F 0.01 4.7 — 14.0 12.5 10.0 0.6 1.3 1500
FPT22J153K-F 0.015 5.0 — 15.0 12.5 10.0 0.6 1.9 1250
FPT22)223K-F 0.022 4.8 — 14.8 12.5 10.0 0.6 2.2 1250
FPT22J333K-F 0.033 5.8 — 16.2 12.5 10.0 0.6 3.4 1000
FPT22)473K 0.047 6.0 11.1 - 12.5 10.0 0.6 3.8 500
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